
Algorithms

Recursion

Backtracking



Recaps
- Usual Reading
- HWI due Wednesday



Next : how to generalize?
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Solvingthose trees !
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Medians : find
"middle" element.

Two were covered :

O j looking
for any k

k

-

÷
tee¥94.pt#aex

P qn=qn-it
kept ⑧Cn) th

up



" faster
"

voyoQhys
?

I
"'

¥¥H
AX
Isreh⑤smaller!



His picture : kbYEy
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Runtime :
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Multiplication : factoring trick !
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Exponentiation compute #
of
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(Amazing, right ? ?)
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CHI : Backtracking:
Many of you saw in AI

,

apparently !
(Don 't worry if
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why we discuss :

It's really recursion
(again) !
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N Queens queen per
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His choice : one per row,
so
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store index of queen
on rows in array .

Now , how to solve
:

brute force ! Place a

queen & keep going .
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" unplace

" lastqueen
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